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Show your work!!!
1. Write each of the following as an entire radical. (1 mark each)
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2. Write as a mixed radical. (1mark each}
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3. Determine an equivalent form for each expression. (2 marks each)
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4, Multiply or Divide. Simplify wherever possible. {2 mark each)

a. 3W5x4/8 = /c?\/_ﬁ b. (5\/—2‘_2‘/6)3(5(5‘&)\)’&—>
2V = VT =10VI2 -T2 + 436
=12 (W70 S25(2) « F0VIE + 2(6)
= 29070 T 50 - 0VFI3 4 /g
=50~ dO(DII + /3
= bA-4003
) ) 230 o8 J"’
.(\/5+J§)(3\/5 2\/5) d. N "’[—":}? .9 15 iy
:B'J-E‘Q’E,OJ-?GB“Q\/% . e PR e
- AT 3 a TG DB 2O QJ@ 27-%5-”-
?/
- — =5 » Xas 3 J’ b B o
(V3 - 225 + 330 ~R(5)I3 N T
T 63 -4 s 1 2030 -104R —Z
S 9\/15 -5
_(4J— 10\/_)\]” (p\/_ 15J_) _19&370 s
23 ﬁ R ET:

!
- - : ..IQ(ID>E /7(’0)
6 - 1008 _ Wo-147J7 %:ym_grg | PR

Ct

- =
o 203 HI9T3 =584V | = o33 - 033
A | ‘..—————-__:-__-/-
> HJ 6 - /0(3)5 . e 3’0&5': 4('&5&1{, - 5(2) ; /5
b i '___-é:__ [ 83’3' 1083 ! = BE’)O@’

T - =
Ryl - ——
-




5. Simplify. (2 marks each)
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